

# Oscillation Theory of $h$ -fractional Difference Equations\*

Fanfan Li<sup>1</sup> and Zhenlai Han<sup>1,†</sup>

**Abstract** In this paper, we initiate the oscillation theory for  $h$ -fractional difference equations of the form

$$\begin{cases} {}_a\Delta_h^\alpha x(t) + r(t)x(t) = e(t) + f(t, x(t)), & t \in \mathbb{T}_h^a, \quad 1 < \alpha < 2, \\ x(a) = c_0, \quad \Delta_h x(a) = c_1, \quad c_0, c_1 \in \mathbb{R}, \end{cases}$$

where  ${}_a\Delta_h^\alpha$  is the Riemann-Liouville  $h$ -fractional difference of order  $\alpha$ ,  $\mathbb{T}_h^a := \{a + kh, k \in \mathbb{Z}^+ \cup \{0\}\}$ , and  $a \geq 0, h > 0$ . We study the oscillation of  $h$ -fractional difference equations with Riemann-Liouville derivative, and obtain some sufficient conditions for oscillation of every solution. Finally, we give an example to illustrate our main results.

**Keywords**  $h$ -difference equations, Oscillation, Fractional.

**MSC(2010)** 34A10, 34C10, 26A33.

## 1. Introduction

The fractional calculus (calculus with derivatives of arbitrary order) is an important research field in several different areas such as physics (including classical and quantum mechanic as well as thermodynamics), chemistry, biology, economic, and control theory [7, 10, 11, 13–15]. Fractional difference equations, which is the discrete counterpart of the corresponding fractional differential equations, have recently gained an intensive interest among researchers in the last years. The discrete fractional calculus has been developed much after the appearance of time scale calculus [6]. The researchers started to use delta and nabla analysis by employing the jumping operators  $\sigma$  and  $\rho$ .

Computer simulations show that the time scale  $(h\mathbb{Z})_a$  is particularly interesting because when  $h$  tends to zero one recovers previous fractional continuous-time results [5, 8]. However, the development of the qualitative features of these type of equations is still considered to be at its first stage of progress. Therefore, it is pertinent to develop the oscillation theory of fractional  $h$ -difference equations. The last few years, there are new papers which have studied oscillation of fractional difference equations, see the papers [1, 2, 4, 12].

---

<sup>†</sup>the corresponding author.

Email address: lifanfan1994@163.com(F. Li), hanzhenlai@163.com(Z. Han)

<sup>1</sup>School of Mathematical Sciences, University of Jinan, Jinan, Shandong 250022, China

\*The authors were supported by Shandong Provincial Natural Science Foundation (ZR2017MA043).

Marian et al. [12] studied the oscillation criteria for forced nonlinear fractional difference equations of the form

$$\begin{cases} \Delta^\alpha x(t) + f_1(t, x(t+a)) = v(t) + f_2(t, x(t+a)), & t \in \mathbb{N}_0, \quad 0 < \alpha \leq 1, \\ \Delta^{\alpha-1} x(t)|_{t=0} = x_0, \end{cases}$$

where  $\Delta^\alpha$  denotes the Riemann-Liouville like discrete fractional difference operator of order  $\alpha$ .

Abdalla et al. [1] studied the oscillation of solutions of nonlinear forced fractional difference equations of the form

$$\begin{cases} \nabla_{a(q)-1}^q x(t) + f_1(t, x(t)) = r(t) + f_2(t, x(t)), & t \in \mathbb{N}_{a(q)}, \\ \nabla_{a(q)-1}^{-(m-q)} x(t)|_{t=a(q)} = x(a(q)) = c, & c \in \mathbb{R}, \end{cases}$$

where  $q > 0$ ,  $m = [q] + 1$ ,  $m \in \mathbb{N}$ ,  $[q]$  is the greatest integer less than or equal to  $q$ ,  $\nabla_{a(q)-1}^{-q}$  and  $\nabla_{a(q)-1}^q$  are the Riemann-Liouville sum and difference operators, respectively.

Following this trend and there are no results available in the literature regarding the oscillation of solutions of  $h$ -fractional difference equations, we are concerned equations of the form

$$\begin{cases} {}_a\Delta_h^\alpha x(t) + r(t)x(t) = e(t) + f(t, x(t)), & t \in \mathbb{T}_h^a, \quad 1 < \alpha < 2, \\ x(a) = c_0, \quad \Delta_h x(a) = c_1, \quad c_0, c_1 \in \mathbb{R}, \end{cases} \quad (1.1)$$

where  ${}_a\Delta_h^\alpha$  is the Riemann-Liouville  $h$ -fractional difference of order  $\alpha$ ,  $\Delta_h$  is the forward  $h$ -difference operator,  $\mathbb{T}_h^a := \{a + kh, k \in \mathbb{Z}^+ \cup \{0\}\}$ ,  $a \geq 0$ ,  $h > 0$  and  $e(t)$  is a continuous function. The problems will be studied under the following assumptions:

- (H1)  $r(t)$  is a positive real-valued continuous function on  $\mathbb{R}$ ;
- (H2)  $x(t)f(t, x(t)) > 0$ ,  $x(t) \neq 0$ ,  $t \in \mathbb{T}_h^a$ ;
- (H3)  $|f(t, x(t))| \leq p(t)|x(t)|^\gamma$ ,  $x(t) \neq 0$ ,  $t \geq a$ ;
- (H4)  $|f(t, x(t))| \geq p(t)|x(t)|^\gamma$ ,  $x(t) \neq 0$ ,  $t \geq a$ ,

where  $p(t) \in C(\mathbb{T}_h^a, \mathbb{R}^+)$  and  $\gamma$  is a the quotient of two positive odd numbers.

We only consider these solutions of (1.1) which exist on  $\mathbb{T}_h^a$ . If  $x(t)$  satisfies (1.1) on  $\mathbb{T}_h^a$ , then the function  $x(t)$  is called a solution of (1.1). A solution  $x(t)$  of (1.1) is said to be oscillatory if it is neither eventually positive nor eventually negative, otherwise it is called nonoscillatory. The equation itself is called oscillatory if all of its solutions are oscillatory.

The paper is organized as follows. In Section 2, we present some basic definitions and useful results from the theory of discrete fractional calculus which we rely in the later section. In Section 3, we intend to use the inequalities to obtain some sufficient conditions for oscillation for oscillation of every solution of (1.1). In Section 4, we give an example to illustrate our results.

## 2. Preliminaries

Before stating and proving our results, we introduce some definitions and notations. Let  $\mathbb{T}_h^a := \{a + kh, k \in \mathbb{Z}^+ \cup \{0\}\}$ , where  $a \geq 0$ ,  $h > 0$ . Let us denote by  $\mathcal{F}_{\mathbb{T}}$  the set of real valued functions defined on  $\mathbb{T}_h^a$ ,  $\sigma(t) = t + h$  and  $\rho(t) = t - h$ .

**Definition 2.1.** [7] For a function  $\psi \in \mathcal{F}_{\mathbb{T}}$  the forward  $h$ -difference operator is defined as

$$(\Delta_h \psi)(t) = \frac{\psi(\sigma(t)) - \psi(t)}{h}, \quad t \in \mathbb{T}_h^a,$$

while the  $h$ -difference sum is given by

$$({}_a \Delta_h^{-1} \psi)(t) = h \sum_{k=0}^{n-1} \psi(a + kh), \quad t \in \mathbb{T}_h^a.$$

**Definition 2.2.** [3] For arbitrary  $t, \alpha \in \mathbb{R}$  and  $h > 0$ , the delta  $h$ -factorial function is defined by

$$t_h^{(\alpha)} := h^\alpha \frac{\Gamma(\frac{t}{h} + \alpha)}{\Gamma(\frac{t}{h})}.$$

Considering  $t \in \mathbb{T}_h^a$ , it follows immediately that  $\sigma(t + \alpha h) = t + (\alpha + 1)h \notin \mathbb{T}_h^a$  for noninteger value  $\alpha$ . On this account we introduce the “shifted” time scale

$$\mathbb{T}_h^{a, \alpha} := \{a + (\alpha + k)h, \quad k \in \mathbb{Z}^+ \cup \{0\}\},$$

where  $h > 0$  and  $\alpha \in \mathbb{R}$ . Now we can state the following definition.

**Definition 2.3.** [5] (Delta  $h$ -fractional sum) Let  $\psi$  be defined on  $\mathbb{T}_h^a$ . Then the delta  $h$ -fractional sum of order  $\alpha > 0$  is defined by

$$({}_a \Delta_h^{-\alpha} \psi)(t) = \sum_{k=\frac{a}{h}}^{\frac{t}{h}-\alpha} (t - \sigma(kh))_h^{(\alpha-1)} \psi(kh)$$

for  $t \in \mathbb{T}_h^{a, \alpha}$ .

**Definition 2.4.** [3] (Delta  $h$ -RL fractional difference) Let  $\psi$  be defined on  $\mathbb{T}_h^a$ . Then the delta  $h$ -fractional difference of order  $\alpha > 0$  is defined by

$$({}_a \Delta_h^\alpha \psi)(t) = (\Delta_{ha}^n \Delta_h^{-(n-\alpha)} \psi)(t), \quad t \in \mathbb{T}_h^{a, -\alpha},$$

where  $n = [\alpha] + 1$ .

**Lemma 2.1.** [3] For  $\alpha > 0$ ,  $h > 0$  and  $\psi$  defined on  $T_h^a$  we have for  $t \in \mathbb{T}_h^{a+n} \subset \mathbb{T}_h^a$

$$({}_a \Delta_h^{-\alpha} {}_a \Delta_h^\alpha \psi)(t) = \psi(t) - \sum_{k=0}^{n-1} \frac{(t-a)_h^{(k)}}{k!} \Delta_h^k \psi(a),$$

where  $n = [\alpha] + 1$ .

**Lemma 2.2.** [9] (Young’s inequality)

- (i) Let  $X, Y \geq 0$ ,  $u > 1$  and  $\frac{1}{u} + \frac{1}{v} = 1$ , then  $XY \leq \frac{1}{u}X^u + \frac{1}{v}Y^v$ ,
  - (ii) Let  $X \geq 0$ ,  $Y \geq 0$ ,  $0 < u < 1$  and  $\frac{1}{u} + \frac{1}{v} = 1$ , then  $XY \geq \frac{1}{u}X^u + \frac{1}{v}Y^v$ ,
- where equality hold if and only if  $Y = X^{u-1}$ .

**Lemma 2.3.** [16] (Stirling’s formula) For  $\varepsilon > 0$ , we have

$$\lim_{n \rightarrow \infty} \frac{\Gamma(n)n^\varepsilon}{\Gamma(n+\varepsilon)} = 1.$$

### 3. Main Results

Now, we are in a position to state and prove some new results which guarantee that every solution of (1.1) oscillates.

**Theorem 3.1.** *Assume that  $f(t, x(t)) = 0$  in (1.1) and (H1) hold. If*

$$\liminf_{t \rightarrow \infty} \sum_{s=T+1}^{t-\alpha h} e(s) = -\infty \quad (3.1)$$

for sufficiently large  $T$ , then every solution of (1.1) is oscillatory.

**Proof.** Let  $x(t)$  be a nonoscillatory solution of (1.1). We suppose that  $x(t)$  is an eventually positive solution of (1.1). Then there exists a  $T > a$  such that  $x(t) > 0$  for all  $t \geq T$ . Let  $F(t, x(t)) = e(t) - f(t, x(t)) - r(t)x(t)$ . Then by Definition 2.3, Lemma 2.1 and (H1), we have

$$\begin{aligned} x(t) &= c_0 + c_1(t-a) + \frac{1}{\Gamma(\alpha)} \sum_{s=a}^T (t-\sigma(s))_h^{(\alpha-1)} F(s, x(s)) \\ &\quad + \frac{1}{\Gamma(\alpha)} \sum_{s=T+1}^{t-\alpha h} (t-\sigma(s))_h^{(\alpha-1)} (e(s) - r(s)x(s)) \\ &< c_0 + c_1(t-a) + \frac{1}{\Gamma(\alpha)} \sum_{s=a}^T (t-\sigma(s))_h^{(\alpha-1)} F(s, x(s)) \\ &\quad + \frac{1}{\Gamma(\alpha)} \sum_{s=T+1}^{t-\alpha h} (t-\sigma(s))_h^{(\alpha-1)} e(s), \end{aligned}$$

multiplying both sides of the above inequality by  $\Gamma(\alpha)(t-a)^{-1}$ , we obtain

$$\begin{aligned} 0 < \Gamma(\alpha)(t-a)^{-1}x(t) &< \Gamma(\alpha)c_0(t-a)^{-1} + \Gamma(\alpha)c_1 + \sum_{s=a}^T (t-a)^{-1}(t-\sigma(s))_h^{(\alpha-1)} F(s, x(s)) \\ &\quad + \sum_{s=T+1}^{t-\alpha h} (t-a)^{-1}(t-\sigma(s))_h^{(\alpha-1)} e(s). \end{aligned} \quad (3.2)$$

By Definition 2.2 and Lemma 2.3, we observe that

$$\begin{aligned} \lim_{t \rightarrow \infty} (t-a)^{-1}(t-\sigma(s))_h^{(\alpha-1)} &= \lim_{t \rightarrow \infty} (t-a)^{-1}h^{\alpha-1} \frac{\Gamma\left(\frac{t-\sigma(s)}{h} + \alpha - 1\right)}{\Gamma\left(\frac{t-\sigma(s)}{h}\right)\left(\frac{t-\sigma(s)}{h}\right)^{\alpha-1}} \left(\frac{t-\sigma(s)}{h}\right)^{\alpha-1} \\ &= \lim_{t \rightarrow \infty} \frac{(t-\sigma(s))^{\alpha-1}}{t-a} \\ &= 0. \end{aligned}$$

Hence, there exists a  $M > 0$  such that

$$-M < (t-a)^{-1}(t-\sigma(s))_h^{(\alpha-1)} < M, \quad t \in \mathbb{T}_h^a.$$

It follows from (3.2) that

$$0 < C_0(t-a)^{-1} + C_1 + C_2(T) + M \sum_{s=T+1}^{t-\alpha h} e(s), \quad t \in \mathbb{T}_h^a,$$

where  $C_0 = \Gamma(\alpha)c_0$ ,  $C_1 = \Gamma(\alpha)c_1$  and  $C_2(T) = M \sum_{s=a}^T F(s, x(s))$ , i.e.

$$\sum_{s=T+1}^{t-\alpha h} e(s) > -\frac{1}{M}(C_0(t-a)^{-1} + C_1 + C_2(T)), \quad t \in \mathbb{T}_h^a. \tag{3.3}$$

Taking limit inferior in (3.3) as  $t \rightarrow \infty$ , we have

$$\begin{aligned} \liminf_{t \rightarrow \infty} \sum_{s=T+1}^{t-\alpha h} e(s) &\geq \liminf_{t \rightarrow \infty} \left(-\frac{1}{M}(C_0(t-a)^{-1} + C_1 + C_2(T))\right) \\ &= -\limsup_{t \rightarrow \infty} \frac{1}{M}(C_0(t-a)^{-1} + C_1 + C_2(T)) \\ &> -\infty, \end{aligned}$$

i.e.

$$\liminf_{t \rightarrow \infty} \sum_{s=T+1}^{t-\alpha h} e(s) > -\infty,$$

which contradicts condition (3.1). In case  $x(t)$  eventually negative, one can proceed in the same way and reach to a contradiction with (3.1). The proof is complete.  $\square$

**Theorem 3.2.** *Assume that (H1)-(H3) hold for  $0 < \gamma < 1$ . If*

$$\liminf_{t \rightarrow \infty} \sum_{s=T+1}^{t-\alpha h} (e(s) + H(s)) = -\infty \tag{3.4}$$

and

$$\limsup_{t \rightarrow \infty} \sum_{s=T+1}^{t-\alpha h} (H(s) - e(s)) = \infty, \tag{3.5}$$

for sufficiently large  $T$ , where

$$H(s) = \frac{1-\gamma}{\gamma} r^{\frac{\gamma}{1-\gamma}}(s) (\gamma p(s))^{\frac{1}{1-\gamma}}, \tag{3.6}$$

then every solution of (1.1) is oscillatory.

**Proof.** Let  $x(t)$  be a nonoscillatory solution of (1.1).

Case 1: Suppose that  $x(t)$  is an eventually positive solution of (1.1). Then there exists a  $T > a$  such that  $x(t) > 0$  for all  $t \geq T$ . For each fixed  $s$ , let  $X = x^\gamma(s)$ ,  $Y = \frac{\gamma p(s)}{r(s)}$ ,  $u = \frac{1}{\gamma}$  and  $v = \frac{1}{1-\gamma}$ , then from part (i) of Lemma 2.2 we get

$$\begin{aligned} p(s)x^\gamma(s) - r(s)x(s) &= \frac{r(s)}{\gamma} \left( x^\gamma(s) \frac{\gamma p(s)}{r(s)} - \gamma (x^\gamma(s))^{\frac{1}{\gamma}} \right) \\ &= \frac{r(s)}{\gamma} \left( XY - \frac{1}{u} X^u \right) \leq \frac{r(s)}{\gamma} \frac{1}{v} Y^v = H(s), \end{aligned} \tag{3.7}$$

where  $H(s)$  is defined as in (3.6). In view of (H3), by following similar steps to the proof of Theorem 3.1, we get

$$\begin{aligned}
0 &< C_0(t-a)^{-1} + C_1 + C_2(T) + \sum_{s=T+1}^{t-\alpha h} (t-a)^{-1}(t-\sigma(s))_h^{(\alpha-1)}(e(s) + f(s, x(s)) - r(s)x(s)) \\
&\leq C_0(t-a)^{-1} + C_1 + C_2(T) + \sum_{s=T+1}^{t-\alpha h} (t-a)^{-1}(t-\sigma(s))_h^{(\alpha-1)}(e(s) + p(s)x^\gamma(s) - r(s)x(s)) \\
&\leq C_0(t-a)^{-1} + C_1 + C_2(T) + \sum_{s=T+1}^{t-\alpha h} (t-a)^{-1}(t-\sigma(s))_h^{(\alpha-1)}(e(s) + H(s)) \\
&< C_0(t-a)^{-1} + C_1 + C_2(T) + M \sum_{s=T+1}^{t-\alpha h} (e(s) + H(s)), \quad t \in \mathbb{T}_h^a,
\end{aligned} \tag{3.8}$$

where  $C_0, C_1, C_2$  and  $M$  are defined as in Theorem 3.1. Hence, we get

$$\liminf_{t \rightarrow \infty} \sum_{s=T+1}^{t-\alpha h} (e(s) + H(s)) > -\infty,$$

which contradicts condition (3.4).

Case 2: Suppose that  $\bar{x}(t)$  is an eventually negative solution of (1.1). Then there exists a  $T > a$  such that  $\bar{x}(t) < 0$  for all  $t \geq T$ . For each fixed  $s$ , let  $\bar{X} = \bar{x}(s)^\gamma$ ,  $Y = \frac{\gamma p(s)}{r(s)}$ ,  $u = \frac{1}{\gamma}$  and  $v = \frac{1}{1-\gamma}$ , then from part (i) of Lemma 2.2 we get

$$\begin{aligned}
p(s)\bar{x}^\gamma(s) - r(s)\bar{x}(s) &= \frac{r(s)}{\gamma} \left( \bar{x}^\gamma(s) \frac{\gamma p(s)}{r(s)} - \gamma (\bar{x}^\gamma(s))^{\frac{1}{\gamma}} \right) \\
&= \frac{r(s)}{\gamma} (\bar{X}Y - \frac{1}{u}\bar{X}^u) \geq -\frac{r(s)}{\gamma} \frac{1}{v} Y^v = -H(s),
\end{aligned}$$

where  $H(s)$  is defined as in (3.6). In view of (H3), by following similar steps to the proof of Theorem 3.1, we get

$$\begin{aligned}
0 &> C_0(t-a)^{-1} + C_1 + C_2(T) + \sum_{s=T+1}^{t-\alpha h} (t-a)^{-1}(t-\sigma(s))_h^{(\alpha-1)}(e(s) + f(s, \bar{x}(s)) - r(s)\bar{x}(s)) \\
&\geq C_0(t-a)^{-1} + C_1 + C_2(T) + \sum_{s=T+1}^{t-\alpha h} (t-a)^{-1}(t-\sigma(s))_h^{(\alpha-1)}(e(s) + p(s)\bar{x}^\gamma(s) - r(s)\bar{x}(s)) \\
&\geq C_0(t-a)^{-1} + C_1 + C_2(T) + \sum_{s=T+1}^{t-\alpha h} (t-a)^{-1}(t-\sigma(s))_h^{(\alpha-1)}(e(s) - H(s)) \\
&> C_0(t-a)^{-1} + C_1 + C_2(T) - M \sum_{s=T+1}^{t-\alpha h} (e(s) - H(s)) \\
&= C_0(t-a)^{-1} + C_1 + C_2(T) + M \sum_{s=T+1}^{t-\alpha h} (H(s) - e(s)), \quad t \in \mathbb{T}_h^a,
\end{aligned}$$

where  $C_0, C_1, C_2$  and  $M$  are defined as in Theorem 3.1. Hence, we get

$$\limsup_{t \rightarrow \infty} \sum_{s=T+1}^{t-\alpha h} (H(s) - e(s)) < \infty,$$

which contradicts condition (3.5). This proof is complete.  $\square$

**Theorem 3.3.** *Assume that (H1), (H2) and (H4) hold for  $\gamma > 1$ . If*

$$\liminf_{t \rightarrow \infty} \sum_{s=T+1}^{t-\alpha h} (e(s) + H(s)) = -\infty \quad (3.9)$$

and

$$\limsup_{t \rightarrow \infty} \sum_{s=T+1}^{t-\alpha h} (H(s) - e(s)) = \infty, \quad (3.10)$$

for sufficiently large  $T$ , where  $H(s)$  is defined as in (3.6), then every bounded solution of (1.1) is oscillatory.

**Proof.** Let  $x(t)$  be a nonoscillatory bounded from above solution of (1.1). Then there exists a constant  $N$  such that

$$|x(t)| \leq N, \quad \text{for } t \in \mathbb{T}_h^a. \quad (3.11)$$

Suppose that  $x(t)$  is an eventually bounded positive solution of (1.1). Then there exists a  $T > 0$  such that  $x(t) > 0$  for  $t \geq T$ . Using (ii) of Lemma 2.2 and similar to the proof of (3.7), and by (H4) we get

$$f(s, x(s)) - r(s)x(s) \geq p(s)x^\gamma(s) - r(s)x(s) \geq H(s), \quad s \geq T.$$

By Lemma 2.1 and similar to (3.8), we obtain

$$\Gamma(\alpha)x(t)(t-a)^{-1} \geq C_0(t-a)^{-1} + C_1 + C_2(T) + \sum_{s=T+1}^{t-\alpha h} (t-a)^{-1}(t-\sigma(s))_h^{(\alpha-1)}(e(s) + H(s)), \quad t \in \mathbb{T}_h^a,$$

where  $C_0, C_1$  and  $C_2$  are defined as in Theorem 3.1. In view of (3.11), we have

$$\begin{aligned} N\Gamma(\alpha)(t-a)^{-1} &\geq C_0(t-a)^{-1} + C_1 + C_2(T) + \sum_{s=T+1}^{t-\alpha h} (t-a)^{-1}(t-\sigma(s))_h^{(\alpha-1)}(e(s) + H(s)) \\ &> C_0(T)C_0(t-a)^{-1} + C_1 + C_2(T) - M \sum_{s=T+1}^{t-\alpha h} (e(s) + H(s)), \quad t \in \mathbb{T}_h^a, \end{aligned}$$

where  $M$  is defined as in Theorem 3.1, i.e.

$$\sum_{s=T+1}^{t-\alpha h} (e(s) + H(s)) > -\frac{1}{M}(N\Gamma(\alpha)(t-a)^{-1} - C_0(t-a)^{-1} - C_1 - C_2(T)), \quad t \in \mathbb{T}_h^a.$$

For  $t \geq T$ , and this implied that

$$\liminf_{t \rightarrow \infty} \sum_{s=T+1}^{t-\alpha h} (e(s) + H(s)) > -\infty,$$

which contradicts (3.9). In case  $x(t)$  eventually negative, the verifications are similar to Case 2 of Theorem 3.2, so we omit it here. The proof is complete.  $\square$

## 4. Examples

. Consider the equation

$$\begin{cases} \Delta_{\frac{2}{3}} x(t) + x(t) \ln(t+e) = -t \ln(t+e) + x^{\frac{1}{2}}(t) \ln(t+e), & t \in \mathbb{T}_h^a, \\ x(a) = 0, \quad \Delta_{\frac{2}{3}} x(a) = \frac{1}{\Gamma(\alpha)}, \end{cases} \quad (4.1)$$

where  $a = 0$ ,  $\alpha = \frac{3}{2}$ ,  $h = \frac{2}{3}$ ,  $r(t) = p(t) = \ln(t+e)$ ,  $\gamma = \frac{1}{2}$ ,  $e(t) = -t \ln(t+e)$ ,  $c_0 = 0$  and  $c_1 = \frac{1}{\Gamma(\alpha)}$ . It is clear that conditions (H1)-(H3) are satisfied. Thus, the function  $H(s) = \frac{1-\gamma}{\gamma} r^{\frac{\gamma}{1-\gamma}}(s) (\gamma p(s))^{\frac{1}{1-\gamma}} = \frac{1}{4} \ln(t+e)$ . Furthermore, we have

$$\liminf_{t \rightarrow \infty} \sum_{s=T+1}^{t-\alpha h} (-s \ln(s+e) + \frac{1}{4} \ln(s+e)) = -\infty,$$

and

$$\limsup_{t \rightarrow \infty} \sum_{s=T+1}^{t-\alpha h} (\frac{1}{4} \ln(s+e) + s \ln(s+e)) = \infty.$$

By Theorem 3.2 we see that (4.1) is oscillatory.

## References

- [1] B. Abdalla, K. Abodayeh, T. Abdeljawad and J. Alzabut, *New Oscillation criteria for forced nonlinear fractional difference equations*, Vietnam Journal of Mathematics, 2017, 45, 609–618.
- [2] B. Abdalla, *On the oscillation of q-fractional difference equations*, Advances in Difference equations, 2017, 254, 1–11.
- [3] T. Abdeljawad, *Different type kernel h-fractional differences and their fractional h-sums*, Chaos, Solutions and Fractals, 2018, 116, 146–156.
- [4] J. O. Alzabut and T. Abdeljawad, *Sufficient conditions for the oscillation of nonlinear fractional difference equations*, Journal of Fractional Calculus and Applications, 2014, 5, 177–187.
- [5] N. R. O. Bastos, R. A. C. Ferreira and D. F. M. Torres, *Discrete-time fractional variational problems*, Signal Processing, 2011, 91, 513–524.
- [6] M. Bohner and A. Peterson, *Advances in Dynamic Equations on Time Scales*, Birkhauser, Boston, 2001.
- [7] R. A. C. Ferreira and D. F. M. Torres, *Fractional h-difference equations arising from the calculus of variations*, Applicable Analysis and Discrete Mathematics, 2011, 5, 110–121.
- [8] C. Goodrich and A. C. Peterson, *Discrete Fractional Calculus*, Springer, 2015.
- [9] G. H. Hardy, J. E. Littlewood and G. Polya, *Inequalities*, Cambridge University Press, Cambridge, 1988.
- [10] A. A. Kilba, H. M. Srivastava and J. J. Trujillo, *Theory and Application of Fractional Differential Equations*, North Holland Mathematics Studies, 2006, 204, 1–523.



- 
- [11] R. L. Magin, *Fractional Calculus in bioengineering*, Critical Reviews in Biomedical Engineering, 2004, 32, 1–104.
  - [12] S. L. Marian, M. R. Sagayaraj, A. G. M. Selvam and M. P. Loganathan, *Oscillation of fractional nonlinear difference equations*, Mathematical Aeterna, 2013, 2, 805–813.
  - [13] K. S. Miller and B. Ross, *An Introduction to the Fractional Calculus and Fractional Differential Equation*, John Wiley and Sons, Hoboken, 1993.
  - [14] K. B. Oldham and J. Spanier, *The Fractional Calculus*, Academic Press, Salt Lake City, 1993.
  - [15] I. Podlubny, *Fractional Differential Equations*, Academic Press, Salt Lake City, 1999.
  - [16] N. M. Temme, *Special Functions: an introduction to the classical functions of mathematical physics*, John Wiley and Sons, Hoboken, 1996.